FEDERAL EXECUTIVE COUNCIL APPROVED CONTRACTS FOR NOVEMBER 5, 2008

S/N	ITEM/SERVICE	NAME OF CO	OMPANY	cos	T	DATE		DURATION	
1	Contract for the Furnishing of the Newly Constructed Embassy Complex in Malabo, Equatorial Guinea	Messrs Commercial Stable		FCFA16,850,000.00 At the prevailing exchange rate		3 Novemb 2008	er,	DONATION	
2	Contract for the Renovation/Rehabilitation of Government Properties, Embassy of Nigeria, Rome, Italy	Messrs M.I. Geo Construction		€567,098.80 At the prevailing exchange rate		3 Novemb 2008	er,		
3	Contract for the Direct Purchase of 14Nos. DRS PS 940 Photoscribe OMR Scanners by Joint Admissions and Matriculation Board	Messrs Data Sciences (Nigeria) Limited		138,435,507.00		3 Novemb 2008	er,	3 Weeks	
4	Contract for the Completion of the School of Environmental Design and Auditorium (Part B) for the Federal Polytechnic, Nekede, Owerri	Messrs Mek Builders (Nigeria) Limited		77,022,739.50		3 Novemb 2008	er,	24 Weeks	
5	Approval for the Repeat Procurement of the Third ARI TRAINER SIMULATOR / SIMULATOR Building for the Nigerian Navy at NN Engineering College, Sapele	Messrs Richfield Technologies Limited		443,317,213.00		3 Novemb 2008	er,	3 Months	
6	Implementation of Community Cooperative Tractor Hiring Scheme for 3,153,500,000.00 as 25% Federal Government's equity contribution to the participating companies under the community cooperative Tractor Hiring Scheme (Tractorisation Programme) through the Public Private Partnership Model to make available 1,950 units of various Tractors and Implements as indicated below:	Name of Company SCOA Nig. Ltd	Make of Tractor New Holland Tractors, Implements and Spare Parts	SS	Unit Price(N) 5,292,000.00	QTY to Supply		ount(N)	25% Federal Govt. Contribution 198,450,000.00
	Total contract sum- N3,153,500,000.00	National Trucks Man. Ltd.	Foton G 455 Tractor, Implements and Spare Parts	55	5,292,000.00	100	529	9,200,000.00	132,300,000.00

	T	T	1	1	_		
	Nigeria Machine Tools	Belarus 520 Tractor, Implements and Spare Parts	60	5,724,000.00	100	572,400,000.00	143,100,000.00
	North Ocean Ltd.	MF 260 Tractor, implements and Spare Parts	60	5,724,000.00	100	572,400,000.00	143,100,000.00
	Tractor Works Ltd	Belarus 520 Tractor, Implements and Spare Parts	60	5,724,000.00	100	572,400,000.00	143,100,000.00
	Amstrade Ventures Limited	Foton 650 Tractor, Implement and Spare Parts	65	5,920,000.00	150	888,000,000.00	222,000,000.00
	NICA Global Resources Ltd.	Foton 650 Tractor, Implement and Spare Parts	65	5,920,000.00	150	888,000,000.00	222,000,000.00
	Agric Super Master	Massey Ferguson 436 Tractor Implements and Spare parts	70	7,277,500.00	200	1,455,500,000.00	363,875,000.00

	Labana Global Ventures	Massey Ferguson Tractor, Implements and Spare parts	70	7,300,000.00	100	730,000,000.00	182,500,000.00
	Metagro Nig. Ltd	UMZ 8076 Tractor, Implements and Spare parts	72	7,307,000.00	100	730,700,000.00	182,675,000.00
	STYRE NIG. LTD	URSUS 5312(steyr) Tractor, Implements and Spare Parts	72	7,300,000.00	100	730,000,000.00	182,500,000.00
	CANVAS FARM NIG. LTD	AGRITECH LAURALE 5075 Tractor, Implements and Spare parts	75	6,200,000.00	100	620,000,000.00	155,000,000.00
	CHIEFTAIN ASSOCIATES INT'L	John Deere Tractor, Implements and Spare Parts	75	7,398,000.00	200	1,479,600,000.00	369,900,000.00
	GENTECH POWER SUPPLY LIMITED	Massey Ferguson 440 Tractor, Implements and Spare Parts	75	7,398,000.00	100	739,800,000.00	184,950,000.00

	TOTALS	AUTOBAHN TECNIQUES LTD.	SAME 75 HP Tractors, implements and spare parts	75	7,398,000.00	1,950	739,800,000.00 12,614,000,000.00	3,153,500,000.
7	Contract for the Orthophoto Mapping and Aerial Survey of Mambilla Hydro – Electric Power Project	Messrs MAF Geosystems		€998,	803.00	3 Novei	mber, 2008	8 Months
8	Contract to Galaxy Backbone Plc for the Provision of Bandwidth, Connectivity and other ICT Infrastructure (1- GOV.NET) Services to Ministries, Departments and Agencies of the Federal Government of Nigeria	Galaxy Back Plc	kbone	2,999	,719,450.00	3 Nove	mber, 2008	
9	Purchase of Residential Accommodation for Officers and Men of the Federal Road Safety Commission			flats a bedro Maran sum o	2-bedroom and 9No. 1- om flats at aba in the of 1,614.40	3 Nover	mber, 2008	
10				6No. 3 flats a Room quarte Distric	i-Estate of 3-Bedroom and 6No. 1 servant ers at Utako at in the sum 5,727,624.73			